
MAINTENANCE INSTRUCTIONS
 EN
Translation of the original instructions
ASM 390 - ASM 392
Leak detector













kg







1



4

3

2

4

2

23



1

2

1

2



1

2

2

4

3

F-74000 ANNECY

S/N:FC15000123

P/N:119678

Calibration date...: 15-Jan-2015
Lost per year........: 2 %
Temperature........: 23°C
Temperature coeff: 3 %

Value..: 1,3E-7 mbar.l/s ± 10 %

1,3E-8 Pa.m3/s ± 10 %

HELIUM CALIBRATED LEAK



1
3

2



3

F2 F1 4A

A

F1

5



6

F1

8

4

7

A B

D C

5



V1

V2

V1 2 1

3
4

3



V1

3

2

4

V2

3

1

3

4
2

1



1

1

2

3

4

4
5

6

6









2

3

1

4







1

2   

4

3   

5   





A037

Accessoires de raccordement

Connection accessories

Verbindungzubehör

Fuites calibrées Helium

Helium calibrated leaks

Helium Testleck

Rep.

Ref.

Teil

Qté

Qty

Menge

Désignation
Designation

Beschreibung

1 1
Clé emmanchée
Box-shank nut spinner
Rohrsteckschlüssel mit Heft

2 1
Tournevis pour vis TORX® 6X35
Screwdriver for TORX® screw 6x35
Handschrauben für TORX® Schrauben 6x35

3 1
Vis CHc M 4x80
Screw CHc M 4x80
Edelstahlschraube CHc M 4x80

4 3
Vis CHc M 4x12
Screw CHc M 4x12
Edelstahlschraube CHc M 4x12

5 3
Rondelle
Washer
Unterlegscheibe

6 4
Vis CHc M 3x6
Screw CHc M 3x6
Edelstahlschraube CHc M 3x6

7 4
Rondelle
Washer
Unterlegscheibe

8 2
Fusible 5 x 20 F1 6,3 A
Fuse 5 x 20 F1 6.3 A
Sicherung 5 x 20 F1 6,3 A

9 1
Clé six pans mâle de 2,5 mm
ø 2.5 Allen wrench
Innensechskantschlüssel 2,5 mm

10 1
Clé six pans mâle de 3 mm
ø 3 Allen wrench
Innensechskantschlüssel 3 mm

11 1
Clé six pans mâle de 4 mm
ø 4 Allen wrench
Innensechskantschlüssel 4 mm

12 1
Clé six pans mâle de 5 mm
ø 5 Allen wrench
Innensechskantschlüssel 5 mm

13 2
Joint cellule d’analyse 3G
3G Analyser cell O’ring
3G Zelle Dichtung

14 1
Tournevis ANXR 20X100
Screwdriver ANXR 20x100
Handschrauben ANXR 20x100

4

5

6
7

1

14

8

2

13

3 10 91112

B037

B042



C163

C067

C066

C067

C162 C161

E047

E053

E084

E025



G077

G074

G010

K002 K001 K003



I118

I117

J175

J176

J177

J178

J179

J180

J077

J078

J174



E
d

0
1
  
D

a
te

 2
0
1
8

/0
2
 -
 P

/N
:1

2
6
3
4

8
M

E
N

 
 *
1
2
6
3
4
8
*

UN SEUL FOURNISSEUR DE SOLUTIONS DE VIDE
Dans le monde entier, Pfeiffer Vacuum est  reconnu pour ses solutions de vide innovantes 
et adaptées, son approche  technologique, ses conseils et la fiabilité de son service.

UNE LARGE GAMME DE  PRODUITS
Du composant au système complexe, nous sommes  votre seul fournisseur 
de solutions de vide offrant une gamme complète de produits.

UN SAVOIR FAIRE THÉORIQUE ET PRATIQUE
Profitez de notre savoir-faire et de nos offres de formation ! 
Nous vous assistons pour concevoir vos installations, grâce à un service de proximité 
de première qualité dans le monde entier.

Êtes-vous à la recherche d'une 
solution de vide dédiée à vos 
besoins ?
Contactez-nous :

Pfeiffer Vacuum GmbH
Headquarters

T +49 6441 802-0

info@pfeiffer-vacuum.de

Pfeiffer Vacuum SAS, France

T +33 (0) 4 50 65 77 77

info@pfeiffer-vacuum.fr

www.pfeiffer-vacuum.com


	1 About this manual
	1.1 Validity
	1.1.1 Applicable documents

	1.2 Conventions
	1.2.1 Safety instructions
	1.2.2 Pictographs
	1.2.3 Instructions/Abbreviations used
	1.2.4 Labels


	2 Safety and maintenance information
	2.1 Safety precautions
	2.2 Protective equipment
	2.3 Maintenance preparation
	2.4 Tools and spare parts

	3 Maintenance intervals and responsibilities
	3.1 Maintenance time monitoring

	4 Maintenance / replacement
	4.1 Cleaning
	4.2 Leak test of an internal component of the detector
	4.3 Dismantling/reassembling the work surface and front cover
	4.3.1 Work surface
	4.3.2 Front cover

	4.4 Maintenance of the internal calibrated leak
	4.4.1 Setting

	4.5 Analyzer cell maintenance
	4.5.1 Dismantling
	4.5.2 Seals replacement
	4.5.3 Filament replacement

	4.6 Maintenance fans
	4.6.1 Localization
	4.6.2 Replacement of the air inlet fan (V1)
	4.6.3 Replacement of the exhaust fan (V2)

	4.7 Filter maintenance
	4.7.1 Replacement of the vacuum block air filter
	4.7.2 Replacement of the inlet vent filter

	4.8 Pirani gauge replacement

	5 Decommissioning
	5.1 Shutting down for longer periods
	5.2 Disposal
	5.2.1 Restriction of Hazardous Substances (R.O.H.S.)
	5.2.2 Electric and electronic equipments (EEE)


	6 Malfunctions
	6.1 What happens in the event of a defect
	6.1.1 Warning fault display
	6.1.2 Warning / fault window
	6.1.3 List of warnings / faults

	6.2 Troubleshooting guide
	6.2.1 Installation of the application
	6.2.2 Consultation of the application


	7 Service
	8 Spare parts
	8.1 Tool
	8.2 Monitoring and display
	8.3 Ventilation
	8.4 Power and electrical supply
	8.5 Measurement
	8.6 Vacuum block
	8.7 Pump exhaust
	8.8 Pipes - Connections - Seals
	8.9 Cover
	8.10 Accessories


